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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle infront of
that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

1. 1. The tax charged on all the taxable income is called bt W,3aT oF o 2 UF 0y
excise duty Jé’ ZLE1 (D) income tax Jg fl(C) direct tax t/g <l iz (B) sales taxu‘g X (A)
- L e neddze

o The tax in addition to the price of the article is called .
®) salestax £ £ (A

excise duty (g5 L1 (D) incomatax;/g(fl (C) tax u‘?

3. In @"  nis called : cpES nut a3
base L/ (D) exponent UV o/ (C) radicand wi¢ (B) radical sig (A)
4. AM between 6v/5 and 25 is ce b 37 22V5 s 65 L4
75 ©) 55 ©) 35 ®) 45 )
5. 90of3,7 11, ... is e Oy BT M e ™
20 (D) 23 (©) 19 (B) 3 (A)
6 (ANB) =7 (ANB) =? .6
AUB (=)) ANB (©) A°uUBC (B) A€ N B¢ (A)
7. For ¥=2 in2x—y=6 we have x=7 x=? & E,y=2 2x-y=6 _7
4 (D) -4 () 2 (B) -2 (A)
n n
g H= is called ety H=—>— .8
() ()
zl - > ==
x x
arithmetic mean Ll c,}u (D) mode &k (C) mean b~ (B) harmonic mean k- Jn} (A)
8. 0.13inthe form of percentage is o AFY 4013 -0
10 % (D) 13 % (C) 30 (B) 13 (A)
10. in aproportion a:b :: ¢: d,bandc are called gL f et b fertfaib i:c: d =10
antecedent e J( (D) consequent ..*.Jfgfb’ (C) extremes A (B) means & (A)
11. Zakat is deducted at the rate of cedn U2 S 3HE 55 1
5.5 % (D) 4.5% (C) 3.5 % (8) 2.5% (A)
12. Loss is there when A ety 45
(SP > CP) =) ol >y el () (SP =CP) =3/ ol=4i/d (A)
(MP=SP) =3/ wl=citnsu; (D) (SP<CP) wdjul <i/esl (C)
13.

14,

15.

The share of widow (in the presence of children) in inherited

property is
1 1

2 ©) g

-4.(u:'d':.r:r Jovsl) o R Sl T ¥ vag <13

1

(B) 2 (A)

Ld | =

(C)

A machine installed by the bank to dispense cash to customer is -« Jifie (/1 JLE ¢ 5 PR il .14

called

card reader .i. LK (D) ATM {f!-d-r_f (C) scanner ,-.-.‘

The return earned by the bank on loan is named as

mark up ! S (D) premium

(B) computer i:;r (A)
S et et/ A B 2 g ) 415

S (B) profit Ze (A)
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Marks : 60 80: 7

-2l uhrda (e Linio e $Hize : L)

Note :- Section | is compulsory. Attempt any three (3) questions from Section II.

Section | - Jjl o

2. Write short answers to any Six parts : (6x2=12) :aﬁ;ﬁugf‘”ﬁnzqc.dl -2
i. Express 1.26 as percentage -z & A PSS 1.26 -
ii. Express % : “lg“g in its simple form @ Lt S % : 133— -ii
ili. Define Ratio. S S il
iv. Calculate zakat on silver amounting to Rs. 3, 00,000/~ -ZE 334Ut Ingss 3,00, 000 =ASSsl v
v. Define Inheritance. St v
vi. Find CP when SP = Rs. 672/- and profit s 5 % . A8 % O i1 872031} wl Frhpie 47wl LV
Vil. Find market price when SP = Rs. 515.20, discount =8 % 8% = Liew 515.20 =31/ wd B piad o Lo _vil
viii. What is meant by cost price and sale price? Sesly Vo w35} ol ul 47wl _vii
ix. Convert 250 US dollars into Sterling Pound. -G SEBp 23y L05 Fily 250 -ix
3. Write short answers to any Six parts : (6x2=12) -&Ja}!ﬂ/ﬂﬁpi:@{c_d{ +3
i. Convert 5000 Saudi Riyal to Pk rupees when, rate of Saudi Riyal ZJx ui'ag.udl?@ Lo S~ 5000 i
= 22,3449 »n Rs.22.3449 = o, KL So- 2
ii. Define excise duty. o S0 A i

iii. The annualincomeof  ~zZed UF dyly bl bt <028 2t 16 % -¢-4-1, 14,00,000= sub § b L0 i
a flat is Rs. 14,00,000. Find the tax payable at the rate of 16 %.

iv. Simplify (2 ya)é Z A2y (xzys)é -iv

V. Write 0.00018 in scientific notation. &l 5L 000018 v

vi. Solve the equation log;(x+1) =2 ES S logy(x+1) =2 -vi

vii. Write the first three terms of 4, =3n—5 v (:74 ufd.':uf a,=3n-5 _yij
viii. Find the G.M between 3 and 27. S b 3P e £ 27 013 il

ix. Define Arithmetic mean. HE S m gt ix
4 Write short answers to any six parts : (8x2=12) _&mym/’&.fzu;c_df -4

ot AUB=BUA j nA={1,2,3,4}, B=(7,8,9,10} , C={2,6} i _i
it 4={1,2,3,4}, B={7,8,9,10} , C={2,6} thenprove that AUEB =BU 4

gk (ANBYNC 5 0 4={1,4,7,8} , B={4,6,8,9} , C={3,4,57} /A -ii
i 1f 4={1,4,7,8} , B={4,6,8,9} , C={3,4,5,7} thenfind (ANB)NC.

ii. Find CxD if C={p.q,r}and D ={2,3} Sigppr CxD i

iv. Represent the points  G(0,7) on a graph paper. 25 0 y ,‘ﬁ-‘..ii/ S G0,7) 5 v

v. Write down the co-ordinates of a point -.nu"i"l{slc..uf “xulaut -y B BE e L5 Ly

lying above x-axis and on y- axis at a distance of 4 units.

vi. Convert: 86°Cinto "F =....... ZEJy i
vii. Find the range of the given data 10,18,9,6,22 S o Loy Ly i
viii. Find the standard deviation of the values 2,3,6, 8, 11 -éf)"‘ ....i!f'f Uolar ¥ 2,3,6,8,11 _viii

ix. What is meant by variance? SV aed Lix

( Turn Over )



Note:

5.(a)

(b)

6.(a)

(b)

7.(a)

(b)

8.(a)

; % (2)
6},& Section - Il e

< (A (4+an8) 3T Ly ) Gralirlatnded o)
Attempt any three questions. Each question carries Eight ( 4 +4 = 8 ) marks.
G LS A2t B0 UF s Baa ik TESGAE LLS N A6 S5O L T (a)-6
Amna scored 48 out of 50 in a math test, 64 out of 75 in Chemistfy test and 72 out of 80 S‘JhGuC):if oL A
in a Physics test. In which subject did she perform best?
2Lt 555 4 (3420 5000)J7 5044y 4l 49, 4,00,000 () 3 s 8,00,000=48Er (b)
Calculate Zakat on gold of worth Rs.8,00,000, cash of amount Rs. 4,00,000 and silver of weight 50 tola
( Rs. 5000 per tola)
il g2t it tnet Sistny A E w2 Sibina i A 44154 od b ¢ o L (a)-6
If 15 % discount on MP of a heater is allowed and still makes a profit of 2 %. If itis sold on MP,
what is profit percentage.?
Find compound profit on Rs. 600 for 4 years @ 6 ,gf('}#ét-» B eI 6% &4 g 43,600 (b)
percent per annum.

- r}“u.fg o JT U S 4.5% 43T 3 Fndss 150000 2o 7 s4-ss 625000 daT 2o F S i S @)-7
If the total annual income of a person is Rs. 625000 with exemption of amount of Rs. 150000 then find the tax
chargable @ 4.5 %.

2.38x3.901 "
Solve with the help of logarithm table 483 e MJ‘wa.(‘fﬂ (b)
Find the general term and the 14th term of -¢- 5 43 J2* w2 4 &% & spbed ytamd s (APUT (a)-8

an A.P whose 1st term is 2 and the common difference is 5.

~(AAB)° = ASUBS st w3 B={7.81L12} , A={7,10,13,14}, U ={7.8,9,10,11,12,13,14} s (b)

by If U={7,8,9,10,11,12,13,14} . A={7,10,13,14} and B={7,8,11,12} then verify that

9.(a)

(b)

(AN B)¢ = A° UB®

Draw the graph of Y=4x+1 -Z,‘{ S (@)-9
Find the G.M for the given frequency distribution. e w3 K sty o8 L &s (b)

| X g 1 2 3 4

1 Y I 2 3 4 1

11 - 119 - 9000



el

St

v - Roll No. Annuaﬂ;
General Mathematics (U T 2AUEL) (T) SO
Paper : I (Group ¥71I) Objective g;,z,gz (73/ i/.u) I 1
Time : 20 Minutes Code : 5262 < 20 =0
Marks : 15 15

,z::/.;c,;ﬂ_.,fiu‘i;b;w&wl..,.rz.;ma.s_;u,;ué.»;.;z.vf_drm{q{;}rz wiLés D s C.B A s2llgLirs s
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle infront of
that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

1. 1. 20 % of 600 is
200 (D) 20 (C)
2. Percentage formof 0.13 is
10 % (D)
3. Zakat on an amount of Rs. 1,00,000 is .
Rs. 15000 & (D) Rs. 200 < (C) Rs;

13 % ()

4. The share of widow (in the presence of offspring) in

inherited property is
1 1
7] (D) 2 ©)
5. Profit is gained if
(SP < CP) =31 jel <1iel  (B)

SIS SO)

none of these

6. The person or entity whose insurance is being done is called

drawer .3 (D) lessee g7 (©)
7. The amount which paid by the bank on the deposit is called
mark up ! A (D) premium 7 (©)

8. The tax charged on all the taxable income is called
income tax d? (ﬁ (D) excise duty :5;{3 FLE
9. The tax in addition to the price of the article is called
excise duty st L1 (D) income tax Jg H’l (C)
10. In 4% , 4 is called

insured

-¢- 44 206600 -1 -1

120 (B) 12 (A)
-4.;)9 o J 0.1892
30 % (B) 1.3 % (A)

e 53 33 £4-21,00,000 -3
25000 <  (B) Rs. 2500 & (A)

e (lozr S o L e Tin ¥ 0z =4

1 1
< (8 7 @
b U -5

(CP=SP) iiuld = =5/ el (A

(P> CP) w3s) =d > 4/eld  (©)
et m Jed 2B U g w6
L () insurer  wF (A)
cpiaigthnf 2 LI E 7
Bonus gf-:.‘ (B) profit C&E:J (A)
e bl tl 03T A Jopu 2 JE 1 -8

(C) direct tax Jg = oz (B) sales tax 2 K @A)

i SE b e gl -0
sales tax J?)E-’(B) tax Jg (A)
. fas4et 210

radical i (D) integer 5' (C) exponent U =7 (B) base ! (A)
11. The third term of 4, =7+3 s ey A S a,=n+3 1
0 (D) 9 (©) 6 (8) 3 (A)
12. A.M between -3 and 7 is e bs 37K 3,7 12
5 (D) 4 <) 3 (B) 2 (A)
13 (AI"\B)C =? (.. = (Ar.‘B); -_13
AUB (D) ANB () A“wB* (B) A B° (A)
14. |f v =3x thenfor ¥=2 Y=7? s=vyy L x=2,Y=3x fi 14
0 (D) 6 () -3 (8) 2 (A)
' n
16. H = —7— is called et H= —7
1 1
S #] z[_] 15
X X
arithmetic mean b L_Z-LJ (D) mode ol (C) mean by (B) harmonic mean L/ Jf.@ (A)

12 - 119 -14000  ¥r
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General Mathematics ( {Ja’:  QOYILH- D) g,
Paper : I (Group : II) (..'.u/ 1) I

Time: 2 : 10 Hours Subjective j;SLﬁr ) & 210w
Marks : 60 60:

-ﬁvagfzﬁu)lnfa.ék.uﬁ(u.b ..q.-d)l]d:!:.n Py
Note :- Section | is compulsory. Attempt any three (3) questions from Section i1.
Section | - Jil.w

2. Write short answers to any Six parts : (6x2=12) :é{fayizﬂﬁ'lzlgﬁ.df -2
i. Define direct proportion. oy S

il. Find the ratio of Rs. 160 per meter to Rs. 150 per meter. S = g IR Gd..'..w 150 '/'-fé%.u 160 -l

iii. Find the value of x in the proportion 20:50 :: 8:x | g ddx S bl 20050 20 8 :x il
iv. Define Rate of Zakat. L ety e UAS 355 -iv
v. Apersonleft L A Lsnd g WL S SiAded e.:gso.oo.ooo;:g@.ga_f_{r v
a property amounting Rs. 30,00,000. Calculate the amount of his wife's share if he had not any child.
vi. Define loss. s L2ty Syl i
vii. Find the selling price, when Mp = Rs. 728, e bl = T28 4o o = 6% LEEIe) oL il
discount = 6 %
viii. Find CP , when Sp = Rs 100 , profit= 33%% 251 )C = 100 &osse = 33%% 5 e pi2d il
ix. Define Saving Account. _’J;..e/" J o8 L Lix
3. Write short answers to any Six parts : (6x2=12) -z::agm/”a‘.fszt{aéf -3
i. Define operational lease. g S 7 LF?{T -i
ii. The annual income of Lk S Spg 1t J§ oL 20 16 % —emders 14,00,000047 20 § &8 L1 il
a flat is Rs. 14,00,000. Find the tax payable at the rate of 16 %.
iii. Define Direct Tax. oy g u’g el gl i
iv. Simplify and write in exponential form M125x°y"* U eF é/f’ -iv
v. Write 636.5%107 in the decimal form. B Bl e S 636.5x10™  _v
vi. If logx=4.4236 find x ek 2§ x 7 on logx =4.4236 S _vi
vii. Write first three terms of @, =(=1)"n", ey L HJa-= =D"A i
viii. Find an A.M between 2J5 and 645 . s 3T Ubs £ 2J5 i 65 - viil
ix. Find G.M. between -2 and -8. e s QS Penl 2 -8 i
4 Write short answers to any six parts : (6x2=12) -&;al,lz/ﬂ.ﬁ.»lzfa:a.cj/ -4
i i C={2,3,4,5}ang P={6,7}fina CVD g CUD §uD={67} 1y C= {2,3,4,5} /i .i
i. Define ordered pair. . I AT) ) g ) il
i it A={1,2,3} B={3.4} thenfind AxB - AXB J n B={3,4}, 4 ={1,2,3} A -iii
iv. Represent (6, -3) on the graph . -Z 0 4._5!/ S(6,-3) -iv
v. Define horizontal and verticle lines. _:-z-:._.g_;} S 1B St 0 L?l' -V
vi. Convert 95" Fiinto "C' . EJxe ok C SISF i
vii. Find the median of the given data: 5,4,5,4,3,4,2,6 -& {'}" s Kor Loy £ &y Vi
viii. Find the range of the given data : 20,3 .8,12,8 R R L&y i
ix. Define Arithmetic mean. ZEw S Qo Lix
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[)’)}p L (2)
(VA (4+a=8)2T LUy, W EErayzlatmia 3 o)
Note: Attempt any three questions. Each question carries Eight ( 4 +4 = 8 ) marks.
8-(a) 14 cows consume 63 kg of WLLW ¥ F Ly r K770 Ltw2s -0 L Uh 18 L 1S K83 28 14 (a)s
hay in 18 days. How many cows will eat 770 kg of hay in 28 days at same rate?
~EEe S o Ll ~LIA U s e F s LB L 50 N Sediess 48,00,000 L)1 (b)
{b) Akram left a property of worth Rs. 48,00, 000. He left behind a widow , three sons and four daughters,
Calculate the share of each.
LSRN P S ot} oIS &£ ebils Sasj 2 411884 S w30 720 =d Tis § Elbrag {i (a)-6

6.(a) The marked price of a ceiling fan is Rs. 720/- . It s sold for Rs. 684. What percentage discount is being allowed?

o B W d Ui o Wl et ¢ L0 7 %412 1200 sl o b0aor > L2008 % 420 BOO L E b L1 4ot (b)
(b) . Mr. Javed invests in savings scheme Rs. 800/- at 6 % p.a and Re.s. 1200 at 7 % p.a . What is his total
amount of profit on these two investments.
- et 2 45 % ¢ 04T 37 % 9 1,50,000 Lo G ngss 8,26,000 (T 20t JE g S (a).t
7.(a) If the total annual income of a person is Rs. 6,25,000 with exemption of amount of Rs. 1, 50,000 then find the

tax chargable @ 4.5 %.

8.67x3.94 ' . 8.67x3.94
(b) Evaluate T 178 using logarithm table. el l A0 S 178
8.(2) |nsert three G.Ms between 6 and 486, -2 s AL e £6.450 486 (a)-8
(b i 4={1,7,11,15,17,21} - A4={1,7,11,15,17,21} 4
B={11,17,19,23} _ B ={11,17,19,23} ®)
C={2,3,5} C={2,3,5}
then prove that (AN B)YNC=4N(BNC) (ANBYNC=AN(BNC) -ZE b7

9:(&) Draw the figure with the help of the following points on the ~&b SO S b S S s G Sins  (a)-8

graph paper. A(7.,2) , B(-6,-3), C(5,3) A(7.2) , B(-6,-3), C(5,3)
(b) Find the geometric mean for the following frequency distribution. -%}:‘"&:l S~ € sl Sou S3Tn (b)
[ x 1 2 3 4
L f 2 3 2 1
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